Al £ 0 & AHES & Al

2A: E2Ad22|
M CENEY IF(WSUST/ER)
B9 E2e ZH ¥ 22 (cis) 22
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
S2AId22| 15,655,785 13,361,946 2,293,839
= 10,000
= 150,000
= 19,000
Al 15,476,785
C2UNSY AF(WSLER/E2) 13,8%4,609 12,152,903 1,741,706
= 10,000
s 150,000
& 19,000
Al 13,715,609
T2 FHl L 22| 6,254,709 5,985,925 268,784
ax 150,000
T 15,000
Al 6,089,709
T2 Fdl & |l 2elAtY 1,710,810 1,654,177 56,633
101 @124l 181,980 174,391 7,589
M IIZINZ2 2 NS Es 181,980 174,391 7,589
O=&=zH Z47| &d 114,048
oSgolg 219,213 x4 H 22 U +x5F 96,502
oFgg 219,321 & x4H+43=+5E 17,546
OEZANd=E B - 22l 67,932
ool 80,240 3B +x22 2 x7 & 37,071
oFgg 80,2403 *3H +4=+7 6,741
oMET BHLY
7,680 x3G «26 2 7 4,14
cAlRIEE &S 17,825,640 3 * 14| 17,826
oI|=Hl 150, 0003 *7 B *23| 2,100
201 Ler23H| 401,470 355,106 46,364
01 AtR2elt] 208,789 186,782 22,007
Oget=2H| 8,200
o2 FHl ARE P S
500,000& = 12& 6,000
oA =S| =clh|
1,100,000& *2CH*13] 2,200
o=2gse 3,000
o2 Aoz A £
100,000& x6H x53| 3,000
O=4l| 2,970
o&2Z THOHCHE HIAZ2R =4lH]
9,000 x22H x5 2,970
ogxtz 63,450
oHAE 2Xt 200,000& * 102! 2,000
o2 287 Y =+ HHl S ZHIYX 57,600
—=41D| 600,000 6«83 28,800




SN
)(‘I )_:H :
l:|-0| :

S2AgRR D
CERSY PE(D
=2y mH 2 22

)

SYSFR/ER)

dEe

SA - B SA(SH) - MSAL - BAES of e Ca RS2
—g = 600, 0002 +624 483 28,800
CcZ2H EHD| S T2 HYRY o
xt 770,00021452 3,850
OmeIg| 131,169
oHF NGHIE FIlEel 8
166, 00021+ 122 1,99
SOlEAIR ®IloE 2| B
18,677, 00021+ 14] 18,677
oME NBE L 5% NotE B4 B
I ARSI, J) 2guel 8
1,375,002+ 122 16,500
SEAHAL U A HAB| S
13,000, ooo%*SJHA 39,000
o8I 2 SDEYI| HAB| S
2 500,000%*12% 30,000
o81 32| A2l 2
25,000,002 141 25,000
02 BB Y| 192,681 168,324 24,357
03322 % HA 127,440
oBDEUII, NEHAHE H4EI, DY
2| S &) U B4R
10,000,002 1224 120,000
SO42 SHEA S ®II23
200, 00021 %27l 4+ 1224 4,800
oSS NWSBED ®II23
200, 00021 %17l 4+ 1224 2,400
oSS NWLBHD 523
20,0008+ 17 A 1224 240
ONEZHIRAIY 65,241
o2DEYI| AlM B2
350,002+ 15CH 62 31,500
ScHEAYS AlM RXIB2
1,000,00021* 122 12,000
SENMAE L SHEA AL ST
5,000,000 %301 4 16,000
oSABY| RABRILI(MFI], JHE, ©
H)| ) 6,741
— 2] 100,00021* 2CH 1,200
- RRH(FLR)
1,71020%270 £ *12CH 5,541
202 01t 2,560 2,080 480
ENTT] 2,560 2,080 480
OSZ2ES5 AIF0| BE BI=O
20,0002 22 x43] <122 1,920
OEDIZ - £A S2FH 80 e S3s
ol 20,0002 «22+ 131+ 122 480
OMISI%g) Mo Fa
20,0002+ 22425 160




2N

C2AE 2

M CT2NEY FR(NSHEF/E2)
ool TR FY U e (ci9): @2
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
206 M=l 109,800 109,600 200
01 M=8l 109,800 109,600 200
OE2FNEFE Tt 7 109,800
o =06t =(25kg) 12,0002 *4,000% 48,000
o &I ZNIE TH (25kg)
15,0002 %1,000% 15,000
o2 2f 22,0003 =1,000m’ 22,000
o=cte 200,000& *307H 6,000
oRzE= 25,0002 %200 5,000
oAIES(SZ AIUE 25kg)
38,0002 *100H 3,800
o2 M ¥ E2 FHIE XM
10,000,000 * 14! 10,000
305 HHat= S 10,000 10,000
01 that=S 10,000 10,000
O=Z4 WSAL Zolitias
1,000,000& 10 10,000
401 AIZHIX RO 1,005,000 1,003,000 2,000
01 Al&HI 996,054 994,702 1,352
OWAMS etiiEE~etlEE 2 e &2 2
F(F2F0) 100,000,000 +99.1/100 99,100
OffbtE =& 2|E2B5d &2 ZH(FLE
o) 150,000, 000& 99.28/100 148,920
Osgds 412 &2 ZZ(FLUEO)
30,000,000& *98.92/100 29,676
OtD|s 88X & &2 ZE(FLE)
30,000,000& +98.92/100 29,676
O=28 =Z1Z(HS0IAZ~MMOIEQ 0=
Se) £2 ZF(FEA)
50,000,000& +98.92/100 49,460
OActH CHE3e| ADI0tS =& 3185 ¢ &
(FREA) 50,000,000 *98.92/100 49,460
OSHS AISOIOHIIE~TIRIHINE 2t &
2 WEH(FUEHA)
35,000,000 *98.92/100 34,622
O3t HAS(AMEBSH) &2 ZH(F
BIEO0) 60,000,000& *99.10/100 59,460
Olus 18 01HE=2 EE(FLEO)
100,000,000& *99.1/100 99,100
Ootus stz =2 4
50,000,000& *98.92/100 49,460
OSME o=t Al 488 &2 F|
30,000,000& +98.92/100 29,676
OSHE BUYR IF
250,000,0002%99.28/100 248,200
OAMuS 278HA 23 == FH|
20,000,000 +98.92/100 19,784




M
X ZH -
o=

chel:

SEAEzelt
C2USY PR(WSUEF/E2)
TEY IYl & el

A - FHY . S2(3) - HRAY - BES Ol ke e HlmS2
OUHAMSAHEIMH=HR &2 Z&
30,000,000 *98.92/100 29,676
O(F)0aY Az FHEZ FY|
20,000,000 *98.92/100 19,784
03 Al S CHHI 8,946 8,298 648
OEZ 3Hl ¥ "XZelAtd
8,946,000 * 14 8,946
JIEEZ EHl ¥ |X2ZelArd 800,000 800,000
401 Al&HIZ 20| 800,000 800,000
01 Al&HI 794,960 794,960
OJIEE2 FHl € =Kl 22|
800,000,0002+99.37/100 794,960
03 Al =2 0HHI 5,040 5,040 0
OJIEERZ JHl & 2K 22|
800,000,000 *0.63/100 5,040
Oz SOMEER W &2 THEE 500,000 500,000
401 Al&HIZ 20| 500,000 500,000
01 AlEHI 496,400 496,400
O FIMa el W &2 HEH
500,000,000 %99.28/100 496,400
03 AIE = CHHI 3,600 3,600 0
Oz IIJMMEEX W &2 MEH
500,000,000&*0.72/100 3,600
JEEZ PRME L 7 2elAtY 670,000 735,000 265,000
401 AIEHIZ 2018 670,000 735,000 265,000
01 AlEHI 663,484 727,962 64,478
OD|ES 832H X L& HIZH HU|(FLIEO)
50,000,000 *98.92/100 49,460
ONFE AIFZE 2 2 ti+2 F|(3=0!
o) 50,000,000 *38.92/100 49,460
OFES 8 22 ti+=2 FBI(FLIEN)
40,000,000 &+98.92/100 39,568
Og&H A3l ANT31SH =2 &XI(F
OIEN) 40,000,000&%98.92/100 39,568
O2H HAOIS ME283H =2 EUl(
ZF0IEN]) 40,000,000&+98.92/100 39,568
Os4s HS0tE =2 FUI(F2E0)
20,000,000 *98.92/100 19,784
Ogd SIZOtS 2 FHI(=2UE0)
20,000,000 *98.92/100 19,784
Osthg HsiE ME7ed &2 HIgH &
BI(Z=2I&0) 20,000,000 *38.92/100 19,784
O&httH =5 53064 SMYXAIE &
X(F2EN) 100,000,0002%99.1/100 99,100
OstdH K0S 2N S22 H
HI(Z=2I&0) 150,000, 000&%99.28/100 148,920




2N

C2AE 2

M CT2NEY FR(NSHEF/E2)
=R =22 Il R 2e (S &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
Ogd 250t He FHI(Fe&0)
20,000,000& +98.92/100 19,784
OS4E 797-791K| BET2H OHEU S
=QIEO) 40,000,000 *98.92/100 39,568
OZ2S 166-381X L@ HA FH|
30,000,000& +98.92/100 29,676
OFYS DAY 254 54 U TF
30,000,000& +98.92/100 29,676
OS3ts 472N €3 =9 == £X
10,000,000 *98.92/100 9,892
O2ctH HEZ| 76-3%HAl &3 H+8 &X
10,000, 0002 %98.92/100 9,892
03 AIE S THYI 6.516 7,038 N522
OJIEEZ RXME & RXI 22l Arg AlE
LoHYI 6,516,000 * 14 6.516
A.Z2E S JIEEZ D & RA2el 500,000 500,000
401 AIEHIZL SO 500,000 500,000
01 Al&HI 496,400 496,400
OAl - 25 S JIEEZ TN & A=
el 500,000,000&%99.28/100 496,400
03 AIESTHYI 3,600 3,600 0
OAl - 2% S JIZEE 2ENS L RXB
cl 500,000,000& *0.72/100 3,600
A.Z2E S &2 3 E 360,000 350,000
401 AlEHIZ RO 350,000 350,000
01 Al&HI 347,300 347,300
OS8IS =28 &3 F|
250,000,0002%99.28/100 248,200
OAlUZR =28 FJY|
100,000,000 *99.10/100 99,100
03 Al2 = THHI 2,700 2,700 0
OSHAY =28 SZEH|
250,000,000&+0.72/100 1,800
OAUZY =28 S#3F
100,000, 000& *0.9/100 900
AUEZ 2IEX el SHISAH 200,000 200,000 0
401 AIZHIX 20HH 200,000 200,000
01 A28l 198,560 198,560
OAlLE==Z Bl X2l E4l
200,000,0008%99.28/100 198,560
03 Al 20HHI 1,440 1,440 0
OAlEZ Bl Xel &4
200,000,000& *0.72/100 1,440
MU 2 ZHISA 930,000 955,000 /25,000
401 AIEHIX R0 930,000 955,000 /25,000
01 Al&HI 920,838 945,910 N25,072




2N:

C2AE 2

M CRNSY PEH(DSUSR/ER)
=R =22 Il R 2e (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
OLEs (a2 d4) 25 HUl(F2EO)
50,000,000 *38.92/100 49,460
OalD|s 788X L& 25 HHI(FUEN)
50,000,000 *38.92/100 49,460
OstEs 7574 L& B% FUI(FLIEN)
70,000,000 *39.10/100 69,370
OD0|E S 430-181X| 22 B& JHI(FUEN)
60,000,000 *39.10/100 59,460
O=sYs 88 B AH|(F2EO)
50,000,000 *38.92/100 49,460
OPHAE BO1H Al L& BS FUI(FOIEN)
60,000,000 *39.10/100 59,460
OsS2s 18 BX dU|(F2&0])
50,000,000 *38.92/100 49,460
ONZS 222 B 2 BT FUI(FUHO)
20,000,000 *38.92/100 19,784
ONDS 937 22 25 HHI(F2UEN)
20,000,000 *98.92/100 19,784
OB2E 125 ~ 16S LB 2E FUI(F2AR
) 80,000,000&+99. 1/100 79,280
Olns dEz B85 FH|(=EAH)
70,000,000 %99.1/100 69,370
OOlE s S0IAF 2 2 FHUI(F2EN)
30,000,000 *38.92/100 29,676
OS4E sgaielHolstsiie 2C
BI(Z=CIE0N) 70,000,000&+99. 1/100 69,370
O=S 620-3HX| (DCHSIE~2A =44 B F
HI(FCI&0K) 50,000,000 *38.92/100 49,460
OANZS 0= AlDIW3| 2 B FHU|(F=DIE
o) 20,000,000 %98.92/100 19,784
Ol s ZSM0E0IE~HTe AT ES
el 80,000,000&%99. 10/100 79,280
OWANE F=EX90ts4H & S5 Ed|
20,000,000 *38.92/100 19,784
O<0IS0HHE & E& FH|
30,000,000 *38.92/100 29,676
O022z o1& 3|
50,000,000 *38.92/100 49,460
03 Al&2CHYI 9,162 9,090 72
OAUR 2 FH|
9,162,000 =14 9,162
AUER SBEFH & RA22/AS 100,000 100,000
401 A& HIZLE0HY| 100,000 100,000
01 Al&Hl 99,100 99,100
OAUR B XHl ¥ 7Rzl
100,000,000&+99. 10/100 99,100
03 Al 0HYI 900 900 0




2N SRASREID
T CRNSY IH(DSYBF/EE)
al

S S22 Y| & 22| (Et9 &2l
SN - FH . C(3) - MSAY - BAS Ofl bt e MimE=t)
ONU2® 2E3H & |1z
100,000, 000& *0.9/100 900
CAEA Y A HAXZE A 93,899 91,748 2,151
101 Q1244| 60,899 59,348 1,551
4 J1tNI2Z2sEE S 60,899 59,348 1,551
O3ty =Y - 32 dUS3 22| 60,899
o022 80, 240& x2H x222U x 128 42,367
oFFzY 80,240 2P x4« 122 7,704
oMET BHAY
7,680 *2H x262 « 122 4,793
oAIZIEEE 6,034,830& 1A 6,035
201 LBr2AH| 31,000 30,400 600
01 AFR2t2|H| 31,000 30,400 600
Ogbt=ZH| 20,200
ottt EHE A (842 HIE S) 3,400
- g0t 80,000 *35H 2,800
i kS 2002 *3, 00004 600
od £H HIIS XMelH(LS5HE)
850,000 * 12+ A 83| 6,800
oAU = 5,000,000& 23] 10,000
OzAM| 5,400
oLFM U LANIIS ORiES S S2
=4| 9,000 x5H * 10!« 128 5,400
OYx= 5,400
oAZ LAEIIS Bl FH| ARH(AHLL
WHEX, 2= 012l Z&) 5,400
—w52(0IL)
100,000 *6A| 2H+ 1L 33| 1,800
-2 = 100, 000& *6A| 2F* 1L *x335] 1,800
— XIAHIXE 100,000 +6A| 2tx 1 %33] 1,800
401 AlEH|IZL L CHY] 2,000 2,000
01 Al&HI 2,000 2,000
OLEA TR A
1,000, 000& *23| 2,000
SE ALK THoHOIE AHIAIY 400,000 100,000 300,000
g 150,000
= 15,000
Al 235,000
401 A& H|I L E0HY] 400,000 100,000 300,000
g 150,000
c 15,000
Al 235,000
01 Al&HI 399,100 99,100 300,000




M S=ZAldate|nt

B C2NSY PH(DEUSF/TR)
B9 E2e ZH ¥ 22 (cis) 22
SN - FH . C(3) - MSAY - BAS Ofl bt e MimE=t)
OSZA Mool = ¥ RX22
100,000,000&%99.1/100 99,100
OAXIT-1 SBAK SULIEXA Z|
300,000,000 * 1A 300,000
rag 150,000
= 15,000
Al 135,000
03 AIEZ 2 0HHI 900 900 0
OSE AKXl THoHOE AHl & SAI2el
100,000, 000 *0.9/100 900
TZAIE= FH| 7,599,500 6,147,578 1,451,922
= 10,000
& 4,000
Al 7,585,500
28 ALY OIIIE 2 SWAEX SAt 1,250,000 0 1,250,000
401 A2 HIZL 04| 1,250,000 0 1,250,000
01 Al&H| 1,245,500 0 1,245,500

1,250,000, 0002 *99.64/100 1,245,500
03 A2 = THHI 4,500 0 4,500
OS& Al OIIE & s £X|
1,250,000,000&+0.36/100 4,500
Xotite ¥ HE | 2el 104,000 287,000 183,000
401 Al HIZL 2018 104,000 287,000 183,000
01 A=l 103,460 284,849 181,389
OXotits & HE |X 22
50,000,000 *98.92/100 49,460
Ogtize g geetdid s 89
24,000,000& * 14! 24,000
Ost20IHLE (O1ED | X)) FUNME Y
= 30,000,000& *14] 30,000
03 A2 THYI 540 2,151 21,611
OXotats & HE |2t
50,000,000& *1.08/100 540
= FAZel & A 90,000 250,000 160,000
401 AIEHIZL R OHYI 90,000 250,000 160,000
01 AlZHI 89,028 247,948 /158,920
O=su =X2c| & Hdl
50,000,000 *98.92/100 49,460
OUAZEIX B2
40,000,000 *98.92/100 39,568
03 Al THHI gr2 2,052 1,080

50,000,000& *1.08/100 540




2N:

C2AE 2

M TRNSY PE(DSUSR/ER)
gl SRAIEE FHi (Cte M)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
SEESA=CUT=FS=FT
40,000,000&+1.08/100 432
w2 DIt A2 HHISA 5,975,500 5,450,578 524,922
201 er23| 101,500 101,500 0
01 At2teltl 101,500 101,500 0
OZelE4l 101,500
ooiatg AL ZEX =X A2 2
3 70,000,000 * 14 70,000
ool SSHM HEAIS =A A2
9 7,500,000 *37H 2= 22,500
SSAD FI|OHEBL| I B
9,000,000 %14 9,000
308 AXIHSOIA 3,414,000 3,123,078 290,922
07 HAHH 2252 3,414,000 3,123,078 290,922
O =01 JAEZ FX2E A2
£E= 3,414,000,000& 14! 3,414,000
401 AIEHIZ SR 0HYI 2,460,000 2,226,000 234,000
01 Al&HI 2,453,838 2,221,446 232,392
Oug § T2Ae= FIIANEH EY
80,000,000 * 14 80,000
O (4, 5H8) HUHHAE S
99,000,000& x 14 99,000
EHICIW JEHNHEFH =S4
37,000,000 * 14! 37,000
OsSZt JLHNEH B4
46,000,000 * 14 46,000
OSdW JENEH 9
34,000,000 x14] 34,000
OO0 22
422,000,00081%99.28/100 418,962
OYHD B4
359,000,0002%99.28/100 366,416
Oug sl & Jbl
50,000,000& *98.92/100 49,460
O=tn S iy S+ug SEFE2
= 1,333,000,000& *14] 1,333,000
03 Al 20HHI 6,162 4,554 1,608
O0lz=1) 2+22(0.72%)
3,038,000 14| 3,038
OZFH1W B=220.72%)
2,584,0002 %14 2,584
Oug =il & bl
50,000,000& *1.08/100 540
T2 QHNAIEE SHIAY 160,000 80,000 80,000
401 Al HIZL 01| 160,000 80,000 80,000
01 Al&H| 168,452 79,136 79,316




2N

C2AE 2

N C2USY IF(USASF/EZ)
el S2AIEE (Gt M)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
OB =2 B=UNE S HHAES T
100,000,000& *99.10/100 99,100
OE2HX ZH| 10,000,000 *98.92/100 9,892
Otz 28z UHsHEZH &1
50,000,000& *98.92/100 49,460
03 A2 = THHI 1,548 864 684
O £2 DX S FWALE Ji|
100,000,000& *0.90/100 900
OT2EX =l 10,000,00021.08/100 108
OBz S ZUE2 NSHETY &%
50,000,000& *1.08/100 540
Ofchoeg HeEE L Jol 20,000 80,000 60,000
2 10,000
= 4,000
Al 6,000
401 AlEHIZ S 0HbI 20,000 80,000 260,000
= 10,000
< 4,000
Al 6,000
01 Al&H| 19,784 79,280 N59,49%6
OO0 == DfcheeE SE82 & ddl
20,000,000& *98.92/100 19,784
= 10,000
< 4,000
Al 5,784
03 Al 2 CHYI 216 720 A504
OO« DfcieeE SE&8d & ddl
20,000,000& *1.08/100 216
ST A2 40,400 19,400 21,000
=7 ®A2el B+ 40,400 19,400 21,000
201 et 3| 19,400 19,400 0
01 AtR2te|bl 5,200 5,200 0
Oget=ZH] 5,200
oZST AIES (I, AH) otE2el|
4,000,000 * 14 4,000
TS ADBH 22|
100,000& * 122 1,200
02 S3=gHl 14,200 14,200 0
OsE2= & HA 7,200
oxzs7 dJIg 600,000 122 7,200
OAlE &I Xl 7,000
oEsT Ald= RAl&el
7,000,000 *14] 7,000
401 AIEHIZ 2 0HYI 21,000 21,000
01 AlZ8| 21,000 21,000




2N

C2AE 2

M C2USY PE(USYEF/E2)
=Rl B+ ®7A2 (S &)
SN - FH . C(3) - MSAY - BAS Ofl bt e MimE=t)
OSlE Z=7 ZUNNEL 8
21,000,000& = 1A 21,000
TN SH(YSB A /AL AN) 52,971 51,923 1,048
= - 2R MAH 22| 52,971 51,923 1,048
= - Z2RMaE 22| 52,971 51,923 1,048
101 2124d| 30,451 29,943 508
M JIZHHI2E2sSEs 30,451 29,943 508
O3S MAE A A 30,451
o0lgel 80, 240 *4H x22 2 x3E 21,184
oFFLY 80, 2403 *4H x4 Z=+3E 3,852
cMED PRAg
7,680 *4H 26U x3E 2,397
SNl 3,017, 410& *1A 3,018
201 LEt2AH| 21,180 20,940 240
01 AFR2telt| 20,700 20,700 0
Ogbt4=2Y| 20,700
o BRMA ST 19,500
= 800,000 152 X| 12,000
-=g 500,000« 152 X| 7,500
oZRMA HER SI| =42 1,200
-2%d 0|d 400,000& *3&! X| 1,200
° ZB2YH| 480 240 240
02223 2 AN 480
SSIFA 2 HA 22
40,0008 x 1) A+ 122 480
202 044| 1,340 1,040 300
01 2L Y| 1,340 1,040 300
O= - 2N SEHAX 2 AFE6DF XA
= 1,100
oFXl 20,0002 x2% * 153] 600
oEA 50,0002 x2% +53] 500
O= - 22 A AEHERAF & HAZS MM
P 0,000 x2Z 1 L6 240
NEH 0|2 43 UEYESF/E2) 1,387,831 903,754 484,077
XEH 08 oA A 1,387,831 903,754 484,077
NEH E45 HE 85 273,960 290,000 16,040
201 LEr2AH| 233,700 235,900 N2,200
01 AtR2t2lbl 13,700 15,900 N2,200
Ogbt=ZH| 6,700
ofI&A 0|2 843 EE= ME
150&*10,0005% 1,500
o I8 OHMGHA EFD| W& ZHAF &
1,500&x1,00082 1,500




2N

C2AE 2

& &N 018 2d3HUSUER/ER)
Celr X 018 o JHA (Cte M)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
SXREN NEFE F4 o PHESR &4
AR 70,0002 4004 A 2,800
oXEN DEDM, DT AL
300, 0002 x3%5+13] 900
osY+g 7,000
oXEINOIE 243 VS| AV ALY
100,000 x10E 22| 2,000
SXFN SHEIF LMR(2A12H)
250,000 x2E 102 5,000
2 35234l 210,000 210,000 0
O332= % HAl 210,000
oXENEE It (AR, SEXEA 018
X 210,000,000 *14] 210,000
03 A2 I 10,000 10,000 0
OXANS & AEH 012 st A iz
10,000,000 * 14| 10,000
202 04t 3,060 4,260 1,200
01 =LHAHI 3,060 4,260 1,200
OXEN 018 BA5 AR5
20,0003 2H 5 x 122 2,400
OX&EH 2 HII0EE & 4EZNE FA
110,000 2 x33] 660
206 MH=HI 10,000 13,000 23,000
01 M=ZH| 10,000 13,000 /3,000
O A =218 B 7Y
300,000 %102 3,000
OXEHN 24 0|S42/E 22/8 2E 7
300,000 %102 3,000
OAIZIREAN HXITHE SI1F=8I| 7L
500,000 x84 A 4,000
307 elztol & 7,200 6,840 360
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